
Interval Notation

Pick a number between 7 & 32
.

Can safely choose 8,9, -10, - -

y 34 9.5
,
12.346

Did I include 7 ? Did I include 32 ?

Brackets : C
,
] - include

Parentheses : C
,
) - don't include

[7,32] includes 7 & 32 & everything in between

(7
,
32) does not include 7 & does not include 32

But does contain everything in between

such as 7.00001 & 31.99999

Can mix notation

[7
, 32) includes 7 & does not include 32

(7
,
32] does not include 7 & include 32

In general : Names
-

• ⑨ b] = all x such that AEXEB "closed
"

° [a , b) = all x such that a EX Lb "
half -opesldosed"

• (a , b) = all X Such that as XE b "half- opes / closed
"

• (a ,
b) = all x such that as xcb "

open
"

Notice a Cb . [8 ,
-2) doesnt make sense. It must

be of the form C-2,8] as -258 .



More Notation

{ X l a EXEb}
are read xx such that a ExEb"

{x : aexeb}

⇐
• { x I 2 EXE 33=[2/3]

<→bit 's 4 's
• { x I -4 LXE 63 =L-4,6]
→
- o -4 -L L L l, I

• { x I 7 Lx L 30.3} = (7, 30.3)

I→

• { x I -3 EX L 3} = C-3,3)

IF

YOU can do this with too

⇐
-

doesn't
really

make

{Xl x Z t} = Ex , a)
Sense

to
include

00

So
we
use

parenthesis
{ xl x E IT } = too , it)



Absolute Value

a if AZO

lat = { -a if do

what do absolute values show us ?

The absolute value of a number
,
a
,
is distance between

a & O
.

More generally , the distance between two numbers
,
a and

b
,
is la - bl

.

Exe

• I 3 - 5) = I -21 = 2 ⇒ 3 & 5 have a distance of 2 .

2

-

4 If I
, is I >

• I -32-601=1 -921=92⇒ - 32 & GO have distance 92

92

m
( l l S
- 32 60



Integer Exponents

For
any positive integer , n ,

a
"

= a . a . - - . . a

-
n times

⇐

25=2 . 2-

2.2.26'

= 6

40=1

Important examples
O

1) a = I

2) a-
n
= at

negative exponent : reciprocal & make exponent positive

Ex

• 3
-

I ¥
• = ÷ = 36 reciprocal of reciprocal is itself

i. t
36

Can do some fraction manipulating :

-4
5

• ⇒
=L
54

3
- 8

•
XI = x
z
-to y8

n b
-m

• a- - -
m
-

-n

b
a



Properties of Exponents

• am . an = am
" Product Rule

- 22 . 23 = 22+3 = 25=32

• aa÷ = am
-n

Quotient Rule

- 2¥ 23-2=2' = 2

a. (am)
'

= am
-n Power Rule

- ( 22)
>
= 22.3=26--64

• (a b)
m
= am bm Power of a Product

- ( 2.3)2=22.32--4 . 9=36

• (Eb)m= A÷ Power of a Quotient

- ¥12 37=41

Examples

D y
- 5.
y
3
= y

- 5+3

= y -2=4-2

2) 4K¥42 = 48-74254=4,87×74 = 48,6×82=3×8

3) (2 S
-

2)5 = 2552.5=25510 = 2¥


